N = 0 &8 AF S 9 Al A
20138 = 20l A LB H L JIEISEE S H JIE2AFA ~ D& 2HALA
S A JE2ZAA
=R ST
ool AWM I EH CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
S]EEIPRN 2,213,599 1,983,941 229,658
Al 24,377
- 2,189,222
N d A k2S5t 310,645 262,888 47,757
Al 24,377
- 286,268
EAEM JIE XA 199,949 163, 150 36,799
FHESEEH LA QALY E L 75,899 70,000 5,899
201 B2 A H| 46,350 46,300 50
01 AtSR 22l bl 41,350 41,300 50
OFRELREDA M 5,500& *1,0008 5,500
Oxyssm Hel 500, 000& *23] 1,000
OFQARAIHHE HE 15,0002 x 1005 1,500
Og2=8 M 8,000& *1,7005 13,600
O A A (e-book) &2t 15,000& x2005 3,000
ORHEse==22 HH 5,000& 1002 *3& 1,500
OFRFEUHFN AF P 200,000& x5=& 1,000
OgREINAJG A=Y 70,000 *x11H*13] 770
OFFELRED PT M 4,000,000& *x24] 8,000
OREFAM H= 10,000& * 1002 x2& 2,000
OZFEE0 A 9 MA  80,000& %100+ 800
OFY:P oI2tol OIS HIotE
70,000 x7H %23 980
OXASOolel A22A =& 100, 000& 73] 700
oxs Y 2849 M 200, 000& x54! 1,000
02 33249l 5,000 5,000 0
O=2H3g XN& Jls €= 5,000,000& 5,000
202 04 d| 6,549 0 6,549
01 2L Y| 6,549 0 6,549
ORI AEEZ2 AU 6,549
oHIXI 0t OHl 96,300 @ *x17 £ MH*x2H x2 6,549
203 & R =&H| 22,000 22,000 0
03 A=A R =AH| 22,000 22,000 0
OXNXFE SR 17,000,000 17,000
OJIEZ At Al =& 5,000,000& 5,000
303 ZAZ 1,000 1,700 A 700
01 ZAa2 1,000 1,700 A 700
ORfHIAIEE=Z HXUS 1,000
SESRES 500,000 x1JH £ A 500
o = 300, 000& 10 & A 300
o& 200,000& 11 & M 200
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AN JIEZ AL
=R ST
ool AWM I EH CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oy g3 N&E 12,550 12,550 0
201 LBH2d| 6,550 6,550 0
01 At 2t 2l 6,550 6,550 0
OHBFARTAMILRE 22,000 *100= *23] 4,400
O3 ANIZHLER 5,000& 1508 750
OoFHl Molgias HA+Y
70,0003 «10H *23] 1,400
203 YR =&l 1,000 1,000 0
03 AIMF=XH R =AH| 1,000 1,000 0
OSJAL & FE AMFZ 1,000, 000& 1,000
207 A RO H| 5,000 5,000 0
01 289 5,000 5,000 0
OS2 &dl 2832 8 g+&%dl 5,000,000 5,000
=H3 2R FW 111,500 80,600 30,900
201 Let2d]| 3,500 2,600 900
01 At 2teltl 3,500 2,600 900
OL=EA2t 2Hns =4 3,500
oAz 30,000& *300H 900
osAE 700,000 x 1«3 2,100
o3l ktg & 500,000 500
202 odl 90,000 60,000 30,000
03 =L S 70,000 60,000 10,000
OZ] 2% 60,000, 000& 60,000
OL=&A2t 2 Mz =& 10,000, 000& 10,000
04 = X &t 8l 20,000 0 20,000
OXZ offelthg o & 20,000,000& 20,000
203 YR =] 3,000 3,000 0
03 Al =AY R4 3,000 3,000 0
OL=EA2t 2 Mz =4 3,000, 000& 3,000
301 L2 4= 15,000 15,000 0
07 RI2+QI =2 2| (4 HI 8,000 7,000 1,000
OA=2& A2t 2 HnE =4 1,000,000& »8H 8,000
08 2el=& 0 bl 7,000 8,000 A 1,000
O=Husxzdt =3 7,000,000 7,000
el Hedd =& 42,872 30,512 12,360
HAL, SR, ZHFR FA 42,872 30,512 12,360
201 Let249] 24,012 15,012 9,000
01 At 2teltl 23,012 14,012 9,000
OA&XITH 200,000& 4 A 800
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EXN: JIE2AA
A NN S
e ZAX PIHEXN € IMZAES &H (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 XA 2B F S| 500 0 500
O2ALE ZelED| 500,000& = 1CH 500
A&8s IUXNME J|BtR= 659,379 625,345 34,034
SEH0 =22 659,379 625,345 34,034
EHOID HEEHO HMSE 54,379 50,345 4,034
201 et | 33,280 31,045 2,235
01 AP 2t 2| d| 33,280 31,045 2,235
02013 =H W& AFEH AN M
32,000& 702 *23| 4,480
02013 =H W A0 AFEAEH AN
10,000& 702 *23| 1,400
02013 FE Ul &AM 30,0003 x602 23] 3,600
Q2013 S0 AFA (AIE) 65,000& 708 4,550
Q2014 Ol AFOH AFSE H Ml A 65,000& *708 4,550
02014 Ol AFOH AFSE A H A 20,000& 708 1,400
02014 S toll &M 65,000& *708 4,550
02014 AL XI ol & A 10,0002 x708 700
02014 XIEXUXSH HaEHY 2HIIE
15,0002 x805 1,200
OFJ)IMEHE 15,000 708 1,050
OoJI=22sHE 15,0002 x50 750
OJZ222HIHE 12,000 x50 * 13l 600
OMEAHMOAG Basg
70,000 «4H «53] 1,400
OFQHOOAAS BHSY
70,000 x10H 23| 1,400
OUMBY L HYRAXY S
7,000) #4243 x50 1,400
OMdsgs:s 50,000& *53] 250
203 ¥ 2 =&H| 3,500 3,500 0]
03 Al 2 =& 2 = X H| 3,500 3,500 0
OAEMES2HE &L =W &= 3,500,000 3,500
301 et A= 4,200 3,800 400
10 HAFAHI B a2 400 0 400
OFQFGIGIAAR AstD B 24
20,000 %23 x10H 400
12 JIEtE2 A= 3,800 3,800 0
FO oA B 29 3,800
o AtEHl MDA B4 50,0003 x3H x12& 1,800
ol AbA DS (012H01) 2,000,000& 2,000
303 ZAZ2 2,000 2,000 0
01 ZAZ 2,000 2,000 0




A I A
M AME VAME IS
ohel: 520 a2 (SHol: @)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OuladZ(s2H) 2,000,000 2,000
403 UHXISHE X201 & 11,399 10,000 1,399
02 SO 2SI CHSHH & A HI 11,399 10,000 1,399
OXNYgTHE2AAIAE &5 L X 2E
11,399, 000& 11,399
229 pooLEHl XA 125,000 125,000 0
201 Let24E] 30,000 30,000 0
01 At 22l 30,000 30,000 0
ORNMSE 2eH=2ZHl(POOL) 30,000,000& 30,000
202 Odl 80,000 80,000 0
01 =LHA YI 80,000 80,000 0
O32 2A&F 044l (POOL) 80,000,000 80,000
405 TtobF SHI 15,000 15,000 0
01 AL EZFH S 15,000 15,000 0
O2AMEE X SHI(POOL) 15,000, 000& 15,000
MIHHEZEZS XA 480,000 450,000 30,000
307 21201 A 480,000 450,000 30,000
03 Ml HHEEXS 480,000 450,000 30,000
OAgl & HI 2 = 2 (POOL) 480,000,000 480,000
ol = A 22l 1,162,704 1,009, 644 153,060
ol gl bl 1,162,704 1,009, 644 153,060
0l Bl 8l 1,162,704 1,009, 644 153,060
801 GilBI8l 1,162,704 1,009, 644 153,060
01 oildl bl 1,162,704 1,009,644 153,060
Ououldl sl 1,162,704,000& 1,162,704
A2 (D2 AA) 80,871 86,064 25,193
Jl=Zl 80,871 86,064 A 5,193
fNMIIZ2ZH 80,871 86,064 25,193
201 2et24d] 11,151 12,744 A 1,593
01 At 22l 11,151 12,744 A 1,593
O2M2Z JIEs8H| 279,000 »21H 5,859
OJiege+d S&Hl 7,000 x3A«21H 123 5,292
202 oddl 65,520 69,120 A 3,600
01 = LH o4 1l 65,520 69, 120 A 3,600
OJlege+=8 ol 260,000& x21E x12& 65,520
203 YR =&l 4,200 4,200 0
04 BENSSIHRF=LHI 4,200 4,200 0
ORMNZH 22 350,000& =128 4,200
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